Information Economics – Third Homework Assignmment
Second-degree price discrimination:
Consider a product for which there are two types of consumers; high demand consumers and low demand consumers, who’s demand for a product is given by: 

Low demand: 
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1. Suppose that you could perfectly discriminate between the two types of consumers. What quantity, price combination would you offer to each consumer? (Remember, you are trying to capture all the consumer’s consumers’ surplus)

2. What quantity, price combinations would you offer to each consumer if you did not know their types ahead of time? That is, what price and quantity combinations cause consumers to self-select the price, quantity combination intended for them? 

3. Draw both consumer’s demand curves, and illustrate the combinations you derived in 2 on the graph. 

Hints: It is helpful to remember: 

a) that the consumers’ surplus low types receive is given by: 
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b) the high demand consumer is offered a bundle which fully exhausts his/her demand.

Adverse selection and signaling:
You are in charge of training a group of recruits in the art of bomb diffusion, and you ultimately wish to know who the good bomb diffusers are and who the bad bomb diffusers are. The final exam in your course is diffusing an actual live bomb of your design; you can, however, choose the difficulty (d) of the bomb. Students may take the exam at any time, but you wish to rig things so that they will only take the exam if they are actually good diffusers. Good bomb diffusers are paid $10000, while bad bomb diffusers are paid nothing. Further, the costs of diffusing a bomb of difficulty d are given by 10d for good diffusers, and 20d for bad diffusers.  

1. What level of difficulty (d) must the bomb have so that bad diffusers will not try to diffuse it, but good diffusers will, thereby passing the test and earning an additional $10000?
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